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2019 (S)

SSC PART-l (9th CLASS)

PHYSICS (NEW SCHEME)

TIME ALLOWED: 1.45 Hours

SUBJECTIVE SEle

MAXIMUM MARKS: 48

NOTE: Write same question number

((cx:)
#1145 =

48 =

and its part number on answer book, as given in the question paper.

SECTION-l 2

+

A

S

u’/

_./T:..Zyuuf%..{,.!lf.@?é{Zy::/:%l’fjjl/:}dlrgﬁ){Q(L}’ﬁ -y

2. Attempt any five parts. 10=2x5 & fezliztble 8 24y
(i) Define Nuclear Physics and Plasma Physics. -L.J:/Léf/u‘d/u";'bilﬁﬂiu/}jf“-‘b/!—: (i)
(i) Estimate 14 years age in seconds? e B 14 (ii)
(iii) What is meant by Vernier Constant? ‘c_ "/'Lfc_ : w";'//‘ s (iiiy
(iv) Differentiate between Scalars and Veciors. o] -Ju s A u-uf"" {iv)
(v)  Write two types of Motion. Aol
(vi)  Write two differences between Mass and Weight. -u’:’(L},)::de*JJ«-dzsxﬁ‘JL (vi)
(vii)  Define Friction and Coefficient of Friction ISPt @D i)
(viil)  Define Force. What is the unit of force in S.17 S Yl kSl g/l wiil)
3. Attempt any five parts. 10=2x5 e linbie &S 3 A

(i)

4. Attempt any five parts.

()
(

Define Like and Unlike parallel forces.
Differentiate between centre of mass and cantre of gravity.

o GT. 3 AT
..\_ff':_,nf/‘b/u’ ‘t‘-._fU_J'u'_.LM

JLJU__ - .J/' 1I,-*" vu';’_,if/}"

{0
(ii)
)
)
)

State the Law of Gravitation. gLk, i
What is meant by Field Force? Sl e it (v
What are Satellites? Give one example. W:;Lﬁ,‘c'a{l ?ugLﬁy&"Wr (v
Write unit of work and define this unit also. _V;,ff_;y f‘:';ﬂ_,‘! i ;'fs’_.'fs (vi)
What is meantby-Nuclear Fuels? BV A i)
Define Power.  Write its formula. -q.‘f u, . (Y /wﬁum (v

10=2x5

Write impartant features of Kinetic molecular model of a matter.

_E a3 4ty

EEAI el [ -L_@dszﬁut.

(i)

iy Define Density. What is its'SF@nit? S B (ii)
(i) State Pascal's law and write the name of its two applications. ,fxu_’. w Hufn;;léu POrias KL {iif)
{iv) Define Temperature and write its S| Unit. sl _,,1 SR, -*Z_J/V f/-* {iv)
{v) What is meant by upper and lower fixed point of Thermometer? (-%J/[:_Jc:,w!;:x——*’/fuh;f{.ffﬁ”/ (v}
{(vi)  What is meant by transfer of heat? ) eilpfe a2 @ (vi)
(vij  What is meant by rate of flow of heat? Write its equaticn. __fu:.,FsL»- :d;rfn:_,p /Jjuh_u;l 7 {vii)
(viii)  What is Styrofoam? Write its one use. ,do flwst JKJI c_w':v {viii)

SECTION-ll f1.2
- .
NOTE: Attempt any two questions. 18=9 x2 _éxfoiliﬁ - Uirm:,df ks f
5.(A)  Derive third equation of motion with the 4 w;m =l S k.)ir__ i fz/L e (s
help of speed-time graph.
(B)  How much time is 5 s oA 20N L L Tid el 22Ns LA (L)
required to change 22 Ns momentum in a body by a force 20 N7
4 _u_?éfc}l"fé{&-_j_’/gf/:vb/&{;;; df.;,,&aﬁ'f;i_._x_./h_;ld ._.al/”uu y.ﬂ..._: /’"“ (IN_s
6.(A)  Define centre of gravity How can you find fhe centre of gravity of an irregular shaped thin lamina?
5 _~-'r’”». “Jf.__,\_, ‘-z 4000 N i LU e/ zu‘ _c.g/..z. e far i 4 msT! gl ()
(B) A moter boat moves at a steady speed of 4 ms™!. Water resistance acting on it is 4000 N
Calculate the power of its engine.
7.{A)  Define Evaporation. 4 ,;_-f;{?lfé_l,-é_mlxl?l{ul -g._{_g)ﬁuiﬂj{_:gl (.7
Write the various factors affecting it.
G udn 2,55 gem3 FHEEES ~Lm (L ) Gt ce 306 g S AL EE L0 257 5 (L)
(8)

A cube of glass of 5 cm side and mass 306 g, has a cavity inside it. 5 ] JN’ ik

If the density of glass is 2 .55 gcm's. Find the volume of the cavity.

17-20198)-/ S SmuLtan)
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PAPER CODE

NUMBER: 1471

PHYSICS (NEW SCHEME)

TIME ALLOWED: 15 Minutes

2019 (S)
SSC PART-l (9th CLASS)

OBJECTIVE (3.e

s

(£ 2) P

L2 15 = ah

MAXIMUM MARKS: 12

12= AF

y L/CL:‘;J;IJ.?U’&WLH_.«U!&JJ:,J u:ﬁbéé:&.b&:d’!/;{‘éﬂ}lz _uj«":é.d D sl C B <A c.glf..-.ﬁyédlm -
{4l _legg;d/wamerLL.i fw}b _b'ﬂxrjwu_glﬁuﬁgﬁuwﬂﬁ_& Sk L L/qu;}buyc,._g Bt

Note: you have four choices for each objective type question as A, B, C and D. The choice _qj.':d'ﬂ}..-,my

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) Which one of the following units is not a derived unit?
(A) Pascal (£

(2) Which of the following is a vector quantity?

(B) Kilogramme ;L/ig
(A) Speed ir (B) Distance J=b
(3) Inertia depends upon:

(A) Mass Ut (B) Force u#
(4) The S.1 unit of weight is:

{(A) Watt &1 (B)-Kilogramme rlfr‘

(5) The number of perpendicular compoenents of a force are:

(A) 1 {8), 2
(6) Earth's gravitational force of attraction vanishes at:
(A) Infinity g kel (B) 24 6400 km
(7) One horse power is equal to:
(A) s 674 watt (B) i 746 watt
(8) In Einstein's mass-energy equation "C" is the:
{(A) Speed of sound {f«;"d/)sf
(C) Speed of electron w221
(9) S.Iunitof pressure is Pascal which is equal to:

(A) 10%Nm2 (B) 1 Nm™2

(10) Co-efficient of volume thermal expansion of Brass is:

(A) 6.0 x 107°k"" (B) 2.4 x 107%k"1

(11) Thermal conductivity of Copper is:

(A) 0.026 wm™ Tk (B) 400 wm™ 1k
(12) Which of the following is a good radiator of heat?
(A) A white surface iiy@ﬁ

(C) A green coloured surface 5U/m‘i}:’..g

-1 /,:Ulr
e uptleale gt (1)
(C) Newton (D) Watt &1
e HAulsule vidines ()
(C) Displacement _*/‘ujr: (D) Power s}
e S e i (3)
(C) Net force Uvier (D) Velocity (51s
-e-y Sl 6 (4)
(D) Newton (/x
L b L s )
(D) 4
e Qe sttty ®)
(D) 24 1000 km

(C) Gramme {Lf’
(C) 3

(C) 449 42300 km
csisy AL (@)
(C) s 647 watt (D) s 110 watt
e bbb G AT T (8)
(B) Speed of Earth 4z (e
(D) Speed of light 4S5
__;_ml/.u‘g'gwﬁufc,-uﬂ-‘f'z“{/‘:f,uff’" /‘(L'/ (9)

(C) 102Nm2 (D) 103Nm™2

—c e dIE St e (10)

(C) 7.2 x 1075k (D) 4.2 x 109K

PN 50 A S R
(€) 0.6 wm™k 1 (D) 105 wm™ "k
S LISt Sl S s (12)
Eipitd
(D) A dull black surface skt

(B) A shining silvered surface

17(0b])()-2019(8)-/ S S, (MULTAN)
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PAPER CODE

NUMBER: 1473

PHYSICS (NEW SCHEME)

TIME ALLOWED: 15 Minutes

OBJECTIVE (%%

2019 (S) A
SSC PART- (9th CLASS)

(£ ) S5

<« 1h = e

MAXIMUM MARKS: 12

12= AF

Aech \ I3 L pemne fp L L LDy 687 LD 4 C B A ARl Ly -2d
{%{.Jir'u’! _b'f_igp‘,ﬁ?/(jfu::uf&&.)::i :{Jsﬁb -b’xﬂjﬂi._alﬁw&uﬁau‘gﬁ./’z Joy L L/Ju:}'bup‘c.ug -2

Note: you have four choices for each objective type question as A, B, C and D. The choice -J_)::J’)ffamr

which you‘think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) Co-efficient of volume thermal expansion of Brass is:

(A) 6.0 x 103K (B) 2.4 x 109K

(2) Thermal conductivity of Copper is;

(A) 0.026 wm Tk (B) 400 wm™ Tk

(3) Which of the following is a good radiator of heat?
(A) A white surface 5:3&.{.*
(C) A green.coloured surface 6&:6}4..{'
(4) Which one of the following units is not a derived unit?
(A) Pascal uﬂ (B) Kilogramme rff;g
(5) Which of the following is a vector quantity?
(A) Speed ir (B) Distance .(
(6) Inertia depends upon:
(A) Mass '\ (B) Force 9
(7) The S.I unit of weight is:

(A) Watt 215 (B) Kilogramme 1%

(8) The number of perpendicular components of a force are:

(A) 1 (B) 2
(9) Earth's gravitational force of attraction vanishes at:
(A) Infinity zbelne  (B) ¥ 6400 km
(10) One horse power is equal to:
(A) <h 674 watt (B) 1y 748 watt
(11) In Einstein's mass-energy equation "C" is the:
(A) Speed of sound 4z (T
(C) Speed of electron J;;Ju:}’?f
(12) S.1unit of pressure is Pascal which is equal to:

(A) 10*Nm2 (B) 1 Nm™2

-1 /fUlr

et el e (1)
(D) 4.2 x 109K !
<GS @

(D) 105 wimn Tk

(C) 7.2 x 109K

(C) 0.6 wm Tk

e s bl sl Sdizer  (3)
£t
(D) Ardull black surface if&i.:v{j}./d‘_g_ag

(B) A shining silvered surface

RSyl Sty (@)
(C) Newton ¢/« (D) Watt &6
e Sz (5)
(C) Displacement <%} (D) Power s,
e UK e i (6)
(C) Net force (vfzr (D) Velocity (s
~e2l S K (7
(D) Newton ¢/
-;-Gmwju(uﬂrfd:f[.w}f/ (8)
C) 3 (D) 4
e Bencsbud S5y s (9)
(D) £X# 1000 km

{C) Gramme (1/;

(C) ¢ #¥ 42300 km
ekl (10)
(C) s 647 watt (D) = 110 watt
e th6 C UtehlgibdedT (1)
(B) Speed of Earth tx (i
(D) Speed of light 4z §s
et e Fregg e (12)

(C) 102Nm2 (D) 103Nm"2

17(0bj)(ﬁ*)—2019(3)-/§ SO (MULTAN)
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PAPER CODE

NUMBER: 1475

PHYSICS (NEW SCHEME)

TIME ALLOWED: 15 Minutes

2019 (S)
SSC PART-l (9th CLASS)

ey

(F 2) JP

MAXIMUM MARKS: 12

OBJECTIVE (3 e 15 = =B
12= Af

ek L IAIID AL Npeene f L s oL Dy g Q687 L L D M C B A 2Bl
{g{.&b’u‘! -‘ng&:ﬂ/.%fgﬁo:f&i.ﬁ‘é }(J:}b -fmrawglﬁwflpﬁwjflfi.& Fk L L//:fu,/’rmp‘:._g -’cf.':

Note: you have four choices for each objective type question as A, B, C and D. The choice _qﬁ‘,}'}fg._-.mr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) One horse power is equal to:
(A) &5 674 watt (B) &1y 746 watt

(2) In Einstein's mass-energy equation "C" is the:
(A) Speed of sound Az(isT
(C) Speed of electron A};Jw}gi

(3) S.unitof pressure is Pascal which is equal to:

(A) 10%Nm™2 (B) 1 Nm2

(4) Co-efficient of volume thermal.expansion of Brass is:

(A) 6.0 x 109K (B) 2.4 x 1075k!

(5) Thermal conductivity of Copperis:

(A) 0.026 wm Tk (B) 400 wm k!

(6) Which of the following is a good radiator of heat?
(A) A white surface {4
(C) A green coloured surface i&.ﬁfv{f
(7) Which one of the following units is not a derived unit?

(A) Pascal |

(B) Kilogramme (f/fj
(8) Which of the following is a vector quantity?
(A) Speed i (B) Distance e
(9) Inertia depends upon:
(A) Mass i (B) Force s
(10) The S.I unit of weight is:

(A) Watt =1y (B) Kilogramme 1/

(11) The number of perpendicular components of a force are:

(A) 1 B) 2
(12) Earth's gravitational force of attraction vanishes at:

(A) Infinity ¢Aebssst  (B) ¥ 6400 km

- A
%/,f/,ul;w[,_{f (1
(C) iy 647 watt (D) b 110 watt
et C UablgiulddedT @)
(B) Speed of Earth Azt
(D) Speed of light 45
et Py Srangt ST @)

(C) 102Nm™2 (D) 103Nm2

—emdiking Qe (@)
(D) 4.2 x 107K
DTS LTI
(D) 105 wm™ 'k

(C)ll2 QiK™

(©) 0.6 wn 11
Y ﬁlgjé;(jé&;«ﬂ]ﬁ,d@fc.u’:d BV (6)
Cdpnts

(D) A dull black surface  Gab-chie oAl

(B) A shining silvered surface

e pelgie iyl (7)
(C) Newton 7 (D) Watt s
e Hliode Vi (8)
(C) Displacement .',/‘»"5"5 (D) Power .|

e S\ e Sk s (9)

(C) Net force ufer (D) Velocity (s

-2 S16gs  (10)
(C) Gramme ¢/ (D) Newton (/%
e S A L i (1)
(Cy 3 (D) 4
e eI St (12)

(C) ¢ <¥42300km (D) ¥ 1000 km

17(0bj)(7‘»\"¢hﬁ’)-2019(5)-/ 5 \% (MULTAN)
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PAPER CODE

NUMBER: 1477

PHYSICS (NEW SCHEME)

TIME ALLOWED: 15 Minutes

2019 (S)
SSC PART-l (9th CLASS)

/:’U,u

(£ 2) S5

MAXIMUM MARKS: 12

e ch § A Il rerne Jo sl Es L Jvr 36017 1L 245D s C B A Wizl Ll
VEIR LV _ré._(gpu.‘.ifa"éfu:mmfé_)lé J:J:}'b _b'mr:'w.,alﬁw‘:hﬂ:uflﬁ_/q FEK | L/qu;}huya.u.g &

Note: you have four choices for each objective type question as A, B, C and D. The choice -gg/f:,d’)}:.mr

which you think is correct, fill that bubbile in front of that question number, on bubble sheet. Use marker or pen

OBJECTIVE (f% Lo w15 =
12= A4S
s

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1)  The S.I unit of weight is:

(A) Watt &1 (B) Kilogramme r'l/’j{

(2) The number of perpendicular components of a force are:

(A) 1 (B) 2
(3) Earth's gravitational force of attraction vanishes at;
(A) Infinity ;tobuey  (B) % 6400 km
(4) One horse power is equal to:
(A) <1 674 watt (B) &1 746 watt
(5) In Einstein's mass=energy equation "C" is the:
(A) Speed of soundtx s
(C) Speed of electron tr{us
(6) S.lunitof pressure is Pascal which is equal to:

(A) 10*Nm2 (B) 1 Nm2

(7) Co-efficient of volume thermal expansion of Brass is:

(A) 6.0 x 109K (B) 2.4 x 1079k

(8) Thermal conductivity of Copper is:

(A) 0.026 wm™ k1 (B) 400 wm™ k™"

(9) Which of the following is a good radiator of heat?
(A) A white surface i;a»_g
(C) A green coloured surface i/&_ﬁ/b{i
(10) Which one of the following units is not a derived unit?
(A) Pascal Lﬁ‘g (B) Kilogramme rlf:b/
(11) Which of the following is a vector quantity?
(A) Speed ir (B) Distance <6
(12) inertia depends upon:

(A) Mass (L (B) Force u:‘;’

A A

—ey S K
(D) Newton /%
—e Al St s
(D) 4
e Qon b f ¥ sy St
(D) ¢A4¥ 1000 km

(C) Gramme rl/(
(C) 3

(C) ¢4 42300 km
sty ]
(C) s 647 watt (D)._=1s 110 watt
et B b S T T
(B) Speed of Earth islet
(D) Speed of light 4 (&
e L"n/.l/.ui‘?'g..{w:'_& Lty E’ﬂ{\j.'.’dﬁ“}lﬁ/

(C) 10°Nm™2 (D) 103Nm™

P T R S Y
(D) 4.2 x 109K

e G
(D) 105 wm Tk

(C) 7.2 x 102K

(C) 0.6 wm k!
Vé../‘..‘dé Ju{fur:alfé_ Jc);rc:. ufd:igv,&'f
Ay BN

(D) A dull biack surface &‘i_/&"m._._ﬁ

(B) A shining silvered surface

S LA
(C) Newton i (D) Watt 1s
Ce Hl S a5
(C) Displacement oY (D) Power sl

fey AT\ o i

(C) Net force ;_)3:":.;" (D) Velocity J’U;

17(0b) (W VLW W )~2019(S)-/\§‘_§‘a (MULTAN)
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